
1 

1 

it 

• '.~ ,-lllíS::a-
' / 
.' .. ,,' ' =·· 

' . , .... -.. , 
0EH~/\ONÍWH 

' ' - .,, 



1 

¡ 
l 







. ~~.,___ __ _ 

- '1 -- -:- ~ 











--- -























_____ __j 

- - -------

- - ---- -- -

------- - -----------~ 

----- - ...--- -







r.r· .. 











tf2._ 
1 









I v 
1 









l J .,. 







t_4:I~~ ~,· 5-

· · ~:te m;C ~1~--~ 

- ~Ll,SC-~7' 



1 .. 







. ¡' · •. ' L 
' ' • 

ílPOílAl~EIA ílOAAAíl,\AIIAíMOY 
l>C1=1 • 2x1= 2 1 3>t l= 3 4)(1:::4 Sx i= 5 
1X2=2 2>t2=4 ·3x2=-6 4x2:: 8 5l' 2= 10 
tx3;3 2-. 3= 6 3 )( 3 7 9 4xJ::f2 5-x.3:: 15 
1:'f4=4 2x4= 8 3x 4:f2 4>r4= í6 5,c4: 20 
1 x's::s 2x5=f0 3x 5=15 4)( 5:. 20 s~S::25 
1 xó=6 2'1!6:::J2 3x 6= !8 4x 6: 24 Sx 6= 30 
t X 7=7 ?x 7 = 14 3w 7=21 ,1>C7=28 Sx 7 = 35 

' 
1 X 8=8 2x8 =16 3><8=24 4,c8:J2 5":C8=40 
1x9=9 2x9=t8 3x9=27 41(9=36 5)( 9 = 45 
1 X 10=10 2')(10=20 3x10=30 4x 10=40 5x1Qc 50 

6Jt1= b 7x1= 7 8x1= 8 9xJ: 9f 10xJ: 10 
, 6x2=12 7x2=f4 8><2=16 9)(2:18 1Q,c2~20 

6:,c3=18 7x3=21 8it3=?4 9x3=27 10ie3=30 
6l(4=24 7x4= 28 8.c4= 32 9x~': 36 tOx4=40 
6ir5=30 7x5=35 8x5=40 9xS=45 '0lC5= SO 
6•6=36 7x6=42 8x6=48 9x6=54' fOir:6:: 60 
6x7=42 7x7=49 8'117=56 9x7= 63 10x7= 70 
6x8=48 7'1t8=56 8x8=64 9x8=72 101<8=80 
6•9=54 7x9 =-63, 8x9=72 9x9=U1 10119: 90, 
6xtQ:60. 7x10=70 8><10=fWl'3x10~9u 10x10=100 
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